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Part 1. Read the following advertisement and choose the option that best fits each of the numbered blanks from 1 to 6.

	Tired of traveling solo? 🌎 JourneyJunkie connects you with adventure buddies! 🤝
Ever wished you had someone to (1) ______ travel stories with? Someone to snap that perfect photo (2) ______ you in front of the Eiffel Tower? JourneyJunkie is here to help!
Our platform (3) ______ travelers with similar interests, making it easy to find your perfect travel companion. Whether you're planning a (4) ______ or a month-long backpacking adventure, we've got you covered!
Sign up is free and easy! Just tell us about your travel style and what you're looking for in a travel buddy. You can browse profiles of other users, see their past trips, and even chat with them before (5) ______ to a trip together.
Join JourneyJunkie today and start (6) ______ the world with a new friend!
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	Question 1:
	A. sharing
	B. share
	C. shared
	D. sharable

	Question 2:
	A. on
	B. of
	C. by
	D. at

	Question 3:
	A. builds
	B. connects
	C. makes
	D. puts

	Question 4:
	A. city break weekend
	B. weekend break city
	C. break weekend city
	D. weekend city break

	Question 5:
	A. to commit
	B. committing
	C. committed
	D. commit

	Question 6:
	A. to explore
	B. explore
	C. explored
	D. exploring



Part 2. Read the following leaflet and choose the option that best fits each of the numbered blanks from 7 to 12.

    Refresh Your Room Without Breaking the Bank!
    Want a stylish room without the hefty price tag? It's easier than you think! With a little creativity, you can transform your space on a budget.
    DIY Decor:
    * Repurpose old (7) ______ as quirky vases or organizers. Add some personality with paint or patterned paper.
    * (8) ______ old picture frames lying around? Give them new life by painting them and displaying pretty fabric scraps or pressed leaves.
    * A (9) ______ strategically placed mirrors can make your room feel larger and brighter. Hit up thrift stores for unique finds.
    Thrifty Finds & Clever Tricks:
    * (10) ______ up your room with inexpensive fairy lights or string lights. Draping them around your bed or windows creates a cozy atmosphere.
    * (11) ______ your bedding and curtains seasonally for an instant refresh. Look for sales and clearance items.
    * (12) ______ buying expensive artwork, create your own! Frame pages from old books, maps, or even wrapping paper. You can also find free printable art online.
    Start small and have fun with it! Your dream room is closer (and cheaper) than you think!
	Question 7:
	A. lids
	B. jars
	C. boxes
	D. labels

	Question 8:
	A. Much
	B. Several
	C. Little
	D. Any

	Question 9:
	A. few
	B. much
	C. many
	D. little

	Question 10:
	A. Shorten
	B. Darken
	C. Brighten
	D. Lessen

	Question 11:
	A. Switch off
	B. Switch over
	C. Switch on
	D. Switch out

	Question 12:
	A. Instead of
	B. Because of
	C. In case of
	D. In spite of



Part 3. Choose the option that indicate the best arrangement of utterances or sentences to make a meaningful exchange or text in each of the following questions from 13 to 17.

	Question 13:
	a. Sarah: Makes sense! I should probably give that a try myself.
b. Lisa: Thanks! I've been focusing on eating more whole foods and cutting back on processed stuff.
c. Sarah: Wow, Lisa, you've lost weight! What's your secret?

	
	A. b - a - c
	B. c - a - b
	C. c - b - a
	D. b - c - a

	Question 14:
	a. Liam: It looks really good! Do you use any specific techniques for shading?
b. Maya: Oh, just a quick sketch of this flower arrangement.
c. Liam: Hey, what are you working on?
d. Maya: Thanks! I'm trying out cross-hatching right now. It's a bit time-consuming but I like the effect.
e. Liam: Yeah, it adds a lot of depth. Maybe you could show me sometime?

	
	A. b - a - c - e - d
	B. b - d - e - a - c
	C. c - b - a - d - e
	D. e - d - c - a - b

	Question 15:
	Hi Emily,
a. They have everything from math and science to history and art.
b. It's a fantastic resource for supplementing your studies or learning something new.
c. I remember you were asking about resources for online learning.
d. Khan Academy is a great platform with tons of free courses on various subjects.
e. Let me know if you have any other questions!
Best,
Jessica

	
	A. c - d - a - b - e
	B. c - b - d - a - e
	C. d - c - b - e - a
	D. c - e - d - a - b

	Question 16:
	a. The process of working towards something, no matter how big or small, brings a sense of accomplishment and boosts my confidence.
b. Even when I face setbacks, I remind myself that progress, not perfection, is the ultimate goal.
c. Whether it's learning a new language or finally organizing my attic, each goal represents a step towards self-improvement.
d. Ultimately, the pursuit of goals keeps me motivated, engaged, and excited about life's possibilities.
e. Setting clear and achievable goals gives me direction and purpose.

	
	A. e - c - a - b - d
	B. c - d - a - b - e
	C. d - a - c - e - b
	D. b - c - e - a - d

	Question 17:
	a. Others find solace in sitting by the pond, simply observing the gentle ripples of the water and the playful ducks gliding by.
b. Every morning, I see individuals practicing yoga amidst the vibrant flowerbeds, their movements fluid and focused.
c. It's a testament to the power of mindfulness in finding peace and grounding within ourselves, even amidst the chaos of the city.
d. These mindful moments offer a welcome respite from the constant distractions and demands of modern life.
e. The local park has become a haven for people practicing mindfulness in our bustling city.

	
	A. c - b - d - a - e
	B. e - b - c - a - d
	C. e - b - a - d - c
	D. e - d - a - b - c



Part 4. Read the following passage about *J.R.R. Tolkien's The Lord of the Rings* and choose the option that best fits each of the numbered blanks from 18 to 22.

    J.R.R. Tolkien's *The Lord of the Rings*, comprised of *The Fellowship of the Ring*, *The Two Towers*, and *The Return of the King*, stands as a cornerstone of the fantasy genre. (18) ______, selling over 150 million copies worldwide and captivating readers with its intricate plot, compelling characters, and immersive world-building. Tolkien's meticulous creation of Middle-earth, (19) ______, established a benchmark for imaginative world-building that continues to inspire authors and filmmakers today.
    The narrative revolves around the perilous quest to destroy the One Ring, an artifact of ultimate power coveted by the Dark Lord Sauron. This seemingly straightforward objective unfolds into a sweeping epic, traversing the vast landscapes of Middle-earth and exploring themes of good versus evil, friendship, sacrifice, and the corrupting nature of power. The narrative masterfully interweaves multiple storylines, following the journey of Frodo Baggins, (20) ______, and his companions as they confront constant danger and moral dilemmas.
    While lauded for its intricate plot and expansive scope, *The Lord of the Rings* also garnered criticism for its prose, (21) ______. Despite this, the sheer depth of Tolkien's world-building, his creation of multiple languages and rich mythology, and his ability to craft memorable characters have cemented the trilogy's status as a landmark achievement in literature.
    The impact of *The Lord of the Rings* extends far beyond the realm of fantasy literature. (22) ______. From tabletop role-playing games to blockbuster film adaptations, Tolkien's epic continues to resonate with audiences of all ages, offering a timeless tale of adventure, camaraderie, and the enduring struggle for good to triumph over evil.
	Question 18:
	A. Published between 1954 and 1955, this epic saga achieved remarkable success
B. Despite being published between 1954 and 1955, the saga did not achieve success initially
C. Written over many years, the individual books were instant successes upon release
D. Though a remarkable success, the epic saga was not published between 1954 and 1955

	Question 19:
	A. though hobbits, elves, and dwarves chose not to populate the area
B. and the population of hobbits, elves, dwarves, migrated there
C. populated by hobbits, elves, dwarves, and other fantastical beings
D. which were populated by hobbits, elves, dwarves, long ago

	Question 20:
	A. the hobbit who was afraid of the Ring
B. a hobbit who didn't want to be entrusted with the Ring
C. the hobbit who tried to steal the Ring
D. the hobbit entrusted with the Ring

	Question 21:
	A. which some readers felt was not dense or archaic enough
B. though all readers found it dense and archaic
C. and some readers wanted it to be more dense and archaic
D. which some readers found dense and archaic

	Question 22:
	A. Though it inspired some writers, its impact on popular culture is debatable
B. It has, however, failed to inspire any notable adaptations in other mediums
C. Despite its popularity, it failed to inspire writers, artists, or filmmakers
D. It has inspired countless writers, artists, musicians, and filmmakers, leaving an indelible mark on popular culture



Part 5. Read the following passage about global wealth inequality and choose the best answer to each of the following questions from 23 to 30.

    Global wealth inequality is undeniably |stark|. The richest 1% of the global population currently owns more than half of the world's wealth, while the bottom 50% owns a mere 1%. This means that a tiny fraction of the world's population controls more resources than billions of people combined. This disparity isn't just a statistic; it translates to vastly different life outcomes, impacting access to education, healthcare, housing, and even basic necessities.
    This level of economic inequality has far-reaching consequences. |It| can fuel social unrest, hinder economic growth, and exacerbate existing inequalities based on gender, race, and location. For instance, the World Bank estimates that extreme poverty is three times higher in countries with high levels of inequality compared to more equitable nations. This highlights how a concentration of wealth at the top can hinder opportunities for upward mobility and trap a significant portion of the population in a cycle of poverty.
    |The causes of this immense wealth gap are complex and multifaceted|. Historical factors like colonialism and exploitation have played a significant role in shaping the current global economic order. Additionally, contemporary issues such as globalization, technological advancements, and government policies have contributed to widening the income and wealth divide both within and across nations.
    Addressing global wealth disparities requires a multi-pronged approach. Implementing |progressive| taxation policies that require wealthier individuals and corporations to contribute a larger share of their income can help redistribute resources. Investing in social safety nets, quality education, and accessible healthcare systems is crucial to provide equal opportunities for everyone. Finally, promoting fair trade practices, responsible business conduct, and global cooperation are essential to create a more just and equitable world for all.
	Question 23:
	Which of the following is NOT mentioned as a contributing factor to the global wealth gap?

	
	A. Natural disasters
	B. Colonialism
	C. Technological advancements
	D. Government policies

	Question 24:
	The word "stark" in paragraph 1 is OPPOSITE in meaning to ______.

	
	A. subtle
	B. obvious
	C. alarming
	D. severe

	Question 25:
	The word "It" in paragraph 2 refers to ______.

	
	A. cycle of poverty
	B. social unrest
	C. economic inequality
	D. upward mobility

	Question 26:
	Which of the following best paraphrases the |first sentence| in paragraph 3?

A. The causes of the significant wealth disparity are clear and singular.
B. The wealth gap is easily explained by a handful of historical events.
C. The reasons for the huge difference in wealth are complicated and have many sides.
D. The immense wealth gap has many simple and straightforward causes.

	Question 27:
	The word "progressive" in paragraph 4 could be best replaced by ______.

	
	A. regressive
	B. graduated
	C. traditional
	D. conservative

	Question 28:
	Which of the following is TRUE according to the passage?

A. The World Bank believes inequality reduces poverty threefold.
B. Fair trade practices alone can solve wealth disparity.
C. The wealthiest 1% own more than half of the world's wealth.
D. The poorest 50% own less than 1% of global wealth.

	Question 29:
	In which paragraph of the passage does the writer use a metaphor to describe the impact of wealth inequality on life outcomes?

	
	A. Paragraph 1
	B. Paragraph 2
	C. Paragraph 3
	D. Paragraph 4

	Question 30:
	In which paragraph of the passage does the writer propose solutions to address global wealth inequality?

	
	A. Paragraph 1
	B. Paragraph 2
	C. Paragraph 3
	D. Paragraph 4



Part 6. Read the following passage about Open Source Software (OSS) and choose the best answer to each of the following questions from 31 to 40.

    [I] Open source software (OSS) has profoundly impacted innovation across various industries. [II] The collaborative nature of OSS development allows developers worldwide to |contribute to| and improve upon existing codebases, accelerating the pace of software creation and refinement. [III] Projects like Linux, the operating system that powers much of the internet, and Apache, the dominant web server software, exemplify the power of open source collaboration, demonstrating how collective effort can produce high-quality, widely adopted technologies. [IV]
    The availability of free and modifiable source code is a key advantage of OSS. |This| allows businesses to tailor software solutions to their specific needs without licensing fees, significantly reducing development costs. Furthermore, the open nature of OSS promotes transparency and security. Since the code is publicly accessible, vulnerabilities can be identified and patched quickly by a large community of developers, enhancing the software's overall robustness. This rapid response to security concerns is often more efficient than the processes used for proprietary software.
    Open source software has become the |building-block| for numerous groundbreaking innovations. The rise of cloud computing, for instance, relies heavily on open source technologies. Platforms like OpenStack, an open source cloud operating system, provide the infrastructure for many cloud service providers. Similarly, the development of artificial intelligence and machine learning has been fueled by open source libraries like TensorFlow and PyTorch, which offer researchers and developers powerful tools to build and deploy AI models.
    |The open source movement fosters a culture of sharing and collaboration that transcends traditional corporate boundaries|. This collaborative ethos drives innovation by encouraging the rapid dissemination of knowledge and best practices. By removing barriers to access and facilitating collaborative development, OSS empowers individuals and organizations to build upon existing work, fostering a cycle of continuous improvement and ultimately leading to a faster pace of technological advancement.
	Question 31:
	Where in paragraph 1 does the following sentence best fit?
This collaborative model lowers the barrier to entry for aspiring programmers, fostering a diverse and vibrant developer community.

	
	A. [I]
	B. [II]
	C. [III]
	D. [IV]

	Question 32:
	The phrase "contribute to" in paragraph 1 could be best replaced by ______.

	
	A. help with
	B. give to
	C. work on
	D. add to

	Question 33:
	The word "This" in paragraph 2 refers to ______.

	
	A. Reduced development costs
	B. The availability of free and modifiable source code
	C. Open source software development
	D. The key advantage of OSS

	Question 34:
	According to paragraph 2, which of the following is NOT a benefit of OSS?

A. Enhanced security
B. Reduced development costs
C. Increased licensing fees
D. Improved robustness

	Question 35:
	Which of the following best summarises paragraph 3?

A. Key innovations like cloud computing and AI utilize open-source technology and readily available software libraries.
B. The growth of cloud computing and AI has benefited from open source, including platforms and powerful AI and ML tools.
C. OSS is fundamental to innovations like cloud computing and AI, with platforms such as OpenStack and libraries like TensorFlow being prime examples.
D. Open source has propelled cloud computing and AI through readily available platforms and accessible machine learning libraries.

	Question 36:
	The word "building-block" in paragraph 3 is OPPOSITE in meaning to ______.

	
	A. ramification
	B. aftereffect
	C. outcome
	D. byproduct

	Question 37:
	Which of the following is TRUE according to the passage?

A. OSS always guarantees superior performance compared to proprietary software.
B. OSS facilitates quicker identification and resolution of software vulnerabilities.
C. OSS hinders innovation due to its collaborative development approach.
D. OSS development is primarily driven by large corporations.

	Question 38:
	Which of the following best paraphrases the |first sentence| in paragraph 4?

A. Open source inspires shared work outside the normal confines of organizations.
B. Open source promotes a collaborative environment that goes beyond the typical limits of companies.
C. Open source encourages teamwork surpassing conventional corporate structures.
D. Open source cultivates joint efforts exceeding the usual reach of businesses.

	Question 39:
	Which of the following can be inferred from the passage?

A. Proprietary software always has slower development cycles than OSS.
B. The primary benefit of OSS is its cost-effectiveness for businesses.
C. Cloud computing would not exist without open-source technologies.
D. The collaborative nature of OSS accelerates technological advancement.

	Question 40:
	Which of the following best summarises the passage?

A. Open source software (OSS) fosters rapid innovation through global collaboration, reduced costs, enhanced security, and by serving as a foundation for advancements like cloud computing and AI, ultimately accelerating technological progress.
B. Open source software (OSS) promotes collaboration among developers, minimizing expenses, boosting security, and driving innovation in fields like cloud computing and AI, thereby accelerating the pace of technological change.
C. Open source software (OSS) enables widespread collaboration, lowering software development costs, improving security through transparency, and underpinning key technological advancements such as cloud computing and AI.
D. Open source software (OSS), through its collaborative nature, reduces costs, strengthens security, and fuels innovation in areas like cloud computing and AI, leading to faster technological development.


------------------------------ THE END ------------------------------
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